#### www.spiff.com

# Best Practices Using Excel/Spreadsheets to Calculate Commissions

**PART 1: MARGINAL ACCELERATORS** 



We believe Spiff is the world's most powerful commission automation platform, and as such, every company with any type of incentive compensation plan could use us. However, despite our best efforts, some companies will want to manage commissions in spreadsheets. This is often the case for:

- Ompanies without a CRM
- S Companies with simple and infrequent commissions
- Companies that don't want to provide their reps with (real-time) visibility into their commissions
- () Companies that don't want to pay for commission software
- S Companies that feel more comfortable in Excel (for whatever reason)
- Ompanies that would rather spend significant time and resources calculating commissions, manually managing disputes, and learning new formulas in Excel instead of doing something awesome like surfing

Some companies feel like they need to use spreadsheets because their plans are "too complicated." This has become a bit of an inside joke at Spiff because every company feels their commission plans are too complex for Spiff. If this is your reason, drop me a line. So far, we haven't found a plan we can't automate in Spiff.

In situations like those described above, Excel or Google Sheets can definitely get the job done. So we wanted to provide some industry best-practices on how to build commission spreadsheets.





This is the first article in a series on Spreadsheets at Spiff, aimed at helping those of you manually managing your commissions in spreadsheets. Our hope is that it'll help make your life just a little bit easier-as we know as well as anyone how absolutely painful managing commission plans really is.

Today we're going to be talking about accelerator commission plans using marginal payout.



demonstrating these topics

# TL;DR

For those of you wanting to jump to the finished product, feel free to check it out here. For the rest, let's answer the first two questions first-they're critical to the remaining topics.



### WHAT IS AN ACCELERATOR **COMMISSION PLAN?**

An accelerator commission plan is one where as a sales rep meets certain quota benchmarks, the rate at which they earn commissions increases. Sometimes companies refer to these commissions as "overachievement" commissions. Statistical research has shown that "overachievement" commissions improve rep performance.

For instance, suppose you have a plan that looks like this:

Min	Мах	Rate
\$0.00	\$5,000.00	10%
\$5,000.00	\$7,500.00	11%
\$7,500.00	\$10,000.00	12%
\$10,000.00	\$12,000.00	15%
\$12,000.00	\$13,000.00	20%
\$13,000.00		25%

In this example, if you sell up to \$5k, then it pays out at 10%, if you sell up to \$7.5k, it pays out at 11%, if you sell up to \$10k, it pays out at 12% and so on.

 $\bigcirc$ 



## WHAT DOES MARGINAL PAYOUT MEAN?

A common response l've found to this question is, marginal payout works very similarly to the way taxes work. Is that helpful?

If you're like me, then you're probably thinking "Ok, great. How do taxes work?" Great question. Let's discuss this further.

When I was a kid, my grandparents had this really cool fountain in their backyard-it was a series of cascading buckets. When you turned the fountain on, the water would flow from the top into the first bucket. Then the fountain would "stop" for a minute while the first bucket filled up, and then it would overflow into the second bucket, "stop", and so on until all the buckets were filled and the water finally ended up in the pond below.



Marginal payout works very similarly. However, instead of an infinite source of water at the top, you have a source bucket with a finite amount of "water" in it. You start pouring it into the fountain, and eventually, your source bucket is empty, and there is some distribution of water in buckets at various stages of the fountain.



Consider the example below:

Min	Мах	Rate	Allocation	\$13,500.00
\$0.00	\$5,000.00	10%	\$5,000.00	\$8,500.00
\$5,000.00	\$7,500.00	11%	\$2,500.00	\$6,000.00
\$7,500.00	\$10,000.00	12%	\$2,500.00	\$3,500.00
\$10,000.00	\$12,000.00	15%	\$2,000.00	\$1,500.00
\$12,000.00	\$13,000.00	20%	\$1,000.00	\$500.00
\$13,000.00		25%	\$500.00	\$0.00

Suppose you have \$13.5k in your "source" to pour out. You can see in this example in the "Allocation" column how much lands in each "bucket". When a bucket reaches its fill, then the marginal payout jumps to the next bucket until all the cash has been distributed.

Now that you know how much cash is in each bucket, the next thing you want to do is calculate the amount of commission that you earn in that bucket. So you take the "Allocation" amount and multiply it by the "Rate" column to get the commission earned for a bucket and sum up those to get the total commission.



Min	Max	Rate	Allocation	\$13,500.00	Commission
\$0.00	\$5,000.00	10%	\$5,000.00	\$8,500.00	\$500.00
\$5,000.00	\$7,500.00	11%	\$2,500.00	\$6,000.00	\$275.00
\$7,500.00	\$10,000.00	12%	\$2,500.00	\$3,500.00	\$300.00
\$10,000.00	\$12,000.00	15%	\$2,000.00	\$1,500.00	\$300.00
\$12,000.00	\$13,000.00	20%	\$1,000.00	\$500.00	\$200.00
\$13,000.00		25%	\$500.00	\$0.00	\$125.00
				Total Commission	\$1,700.00

Spiff has created a fun marginal payout visualizer you can play around with to help solidify this concept.

### APPLYING MARGINAL PAYOUT IN AN ACCELERATOR COMMISSION PLAN

There are a handful of ways we've seen this concept applied. It can apply at the single deal level, or over an entire statement period (i.e. quarter, month, week, etc). In the example we're going to demonstrate, we're going to apply it to all the sales in an entire month.



Another factor we've found is-how do you apply marginal payout in an accelerator commission plan when each of your reps have a different quota? The table we've provided above works great when each of your reps have the same min/max values for their tiers, but what happens when you want the same rate for your reps, but they have individual quotas? We're glad you asked! That's exactly why we have written this guide because this is not an easy problem to solve.

The first thing we need to do is conceptually understand this next step, because it gets a little hairy. With the example provided above, the total commission off the original \$13.5k is \$1.7k. The effective commission rate for that scenario is \$1.7k / \$13.5k = 12.59%, as shown below.

Min	Мах	Rate	Allocation	\$13,500.00	Commission
\$0.00	\$5,000.00	10%	\$5,000.00	\$8,500.00	\$500.00
\$5,000.00	\$7,500.00	11%	\$2,500.00	\$6,000.00	\$275.00
\$7,500.00	\$10,000.00	12%	\$2,500.00	\$3,500.00	\$300.00
\$10,000.00	\$12,000.00	15%	\$2,000.00	\$1,500.00	\$300.00
\$12,000.00	\$13,000.00	20%	\$1,000.00	\$500.00	\$200.00
\$13,000.00		25%	\$500.00	\$0.00	\$125.00
				Total Commission	\$1,700.00
				Effective rate	12.59%

Assuming you're following me thus far, then there's a small adjustment we need to do to make this work with situations where reps have different quotas.

 $(\mathbf{\diamond})$ 



We need to introduce the concept of quota attainment. Suppose for this example a rep sells \$18.2k in a month and has a quota of \$10k in that month. Quota attainment is calculated as:



When using marginal payout with quota attainment, what you do is instead of using dollar values for the min/max values, you use percentages.

Quota Attainment	Min	Мах	Rate
0% to 75%	0%	75%	7%
75% to 85%	75%	85%	10%
85% to 95%	85%	95%	12%
95% to 100%	95%	100%	15%
100% to 110%	100%	110%	20%
110% to 125%	110%	125%	25%
125%+	125%		30%

So in this example, if your quota attainment is between 0-75%, then you get a 7% commission rate, for 75-85% you get 10%, for 85-95% you get 12%, etc.



Let's use the 182% quota attainment value calculated from above. Similar to the bucket water fountain example with cash, this works exactly the same way, except we're using percentages and not cash. So for the first bucket has a range of 75%, and will take 75% of the quota attainment, 10% goes into the second bucket, 10% goes into the third bucket, etc., until all 182% of the attainment has been allocated.

Quota Attainment	Min	Мах	Rate	Allocation	182%
0% to <b>7</b> 5%	0%	75%	7%	75%	107%
75% to 85%	75%	85%	10%	10%	97%
85% to 95%	85%	95%	12%	10%	87%
95% to 100%	95%	100%	15%	5%	82%
100% to 110%	100%	110%	20%	10%	72%
110% to 125%	110%	125%	25%	15%	57%
125%+	125%		30%	57%	0%

Then, exactly like how we did with the cash example from above, we take the allocation amount and multiply it by the rate amount to give the percentage of the commission that falls into each bucket, and we sum them up to get the total commission percentage for the entire accelerator–31%.

Quota Attainment	Min	Max	Rate	Allocation	182%	Commission
0% to 75%	0%	75%	7%	75%	107%	5.25%
75% to 85%	75%	85%	10%	10%	97%	1.00%
85% to 95%	85%	95%	12%	10%	87%	1.20%
95% to 100%	95%	100%	15%	5%	82%	0.75%
100% to 110%	100%	110%	20%	10%	72%	2.00%
110% to 125%	110%	125%	25%	15%	57%	3.75%
125%+	125%		30%	57%	0%	17.12%
				Total Comm	ission %	31%

This last step is the kicker. In the cash example from above, we take the total commission, \$1.7k, and divide it by the total amount to be allocated, \$13.5k, to get the effective commission rate for the accelerator (1.7k / 13.5k = 12.59%). We need to do the exact same thing here and divide the total commission percentage, 31%, by the amount to be allocated, 182%, to get the effective commission rate for the accelerator (31% / 182% = 17%).





### EXAMPLE ACCELERATOR COMMISSION CALCULATOR USING MARGINAL PAYOUT IN EXCEL

#### Here's a preview of the sample commission statement we're creating:

Sales Rep	Sara Snyder	•	Period	Feb 1, 2019 🔻							
				¢0 407 00							
				\$3,107.25				ST	ATS & CAL	CULA	TIONS
				TOTAL COMMISSION				Number	of deals		
								Total Sal	es	\$	18,207
								Quota		\$	10,000
								Quota At	tainment		182.0
SPIFF								Effective	Rate		17.0
Sales Rep	- Location	- Region	- Account	– Booking Date –	ltem	– Quantity	Ŧ	Price	Ŧ	Am	nount
Sara Snyder	Massachusetts	East	Phillip Young	2019/02/01	Things		8	\$	17.83	\$	142
Sara Snyder	Massachusetts	East	Frances Lane	2019/02/01	Junk		1	\$	12.42	\$	12
Sara Snyder	Massachusetts	East	Phillip Johnston	2019/02/01	Stuff		6	\$	16.32	\$	97
Sara Snyder	Massachusetts	East	Rose Baker	2019/02/01	Junk		4	\$	12.42	\$	49
Sara Snyder	New York	East	Robert Hayes	2019/02/01	Junk		2	\$	12.42	\$	24
Sara Snyder	New York	East	Teresa Thomas	2019/02/02	Widgets		3	\$	53.35	\$	160
Sara Snyder	Massachusetts	East	Ernest Kelley	2019/02/02	Stuff		3	\$	16.32	\$	48
Sara Snyder	New York	East	Wayne Lawson	2019/02/02	Junk		4	\$	12.42	\$	49
Sara Snyder	New York	East	Betty Stewart	2019/02/02	Things		2	\$	17.83	\$	35
Sara Snyder	New York	East	Tina Jones	2019/02/02	Stuff		7	\$	16.32	\$	114
Sara Snyder	Connecticut	East	Maria Long	2019/02/02	Stuff		8	\$	16.32	\$	130
Sara Snyder	New Jersey	East	Billy Wood	2019/02/02	Stuff		5	\$	16.32	\$	81.
Sara Snyder	New York	East	Lillian Wood	2019/02/02	Junk		8	\$	12.42	\$	99
Sara Snyder	New York	East	Marilyn Martin	2019/02/03	Junk		10	\$	12.42	\$	124
Sara Snyder	New Jersey	East	Dorothy Baker	2019/02/03	Widgets		4	\$	53.35	\$	213
Sara Snyder	Massachusetts	East	Jacqueline Hart	2019/02/03	Things		2	\$	17.83	\$	35
Sara Snyder	New York	East	Ronald Kim	2019/02/03	Stuff		8	\$	16.32	\$	130
Sara Snyder	New York	East	Billy Reed	2019/02/04	Stuff		5	\$	16.32	\$	81.
Sara Snyder	Massachusetts	East	Cheryl Williamson	2019/02/04	Junk		8	\$	12.42	\$	99.
Sara Snyder	New York	East	Todd Holmes	2019/02/04	Junk		1	\$	12.42	\$	12.
Sara Snyder	New York	East	Christina Oliver	2019/02/05	Things		2	\$	17.83	\$	35.
Sara Snyder	New York	East	Ashley Spencer	2019/02/05	Stuff		9	\$	16.32	\$	146.
Sara Snyder	New Jersey	East	Cynthia Lewis	2019/02/05	Widgets		1	\$	53.35	\$	53.
Sara Snyder	New Jersey	East	Anthony Ruiz	2019/02/05	Junk		6	\$	12.42	\$	74.
Sara Snyder	New Jersey	East	Cynthia Mccoy	2019/02/05	Widgets		9	\$	53.35	\$	480.
Sara Snyder	New Jersey	East	Lois Woods	2019/02/05	Junk		1	\$	12.42	\$	12.
Core Couder	New York	Fast	Konnoth Fornando	2010/02/05	lunk		5	¢	12 /2	¢	60



A few key things to point out is that we have the capability to select which statement period we're calculating for (date range) and we can select which rep to display. It uses these two inputs to generate the commission statement and displays some of the key stats/calculations to use, like total sales, quota attainment, and effective commission rate.



#### **SALES REPS**

The Sales Reps table is literally just a list of potential reps to choose from in the drop down list. Nothing too fancy here.

	Simple M	larginal Accelerator	2 III -												1. A.	· ~ E	💄 Shar	•
-	File Edit	View Insert Format D	Data Tools /	Add-ons Help	All changes sa	ved in Drive		= - 1 - 14	N- 00 F	ID 7 - 1								
fix 1	Name	100 1 0 1 10 1	123 ° Di	eraun (erns. •	ю • В .	· • <u>-</u> ·	• • • • • • •	= · · · · · ·										
	A	8	с	D	E	F	G	н	T.	J	К	L	м	N	0	р	9	
1	Name	Email																
2	Sara Snyder	sara.snyder@spiff.com																
3	Diane Gonzalez	diane.gonzalez@spiff.com																
4 6	Patrick Graham	patrick.graham@spiff.com																
6	Frances Warren	frances.warren@spiff.com																
7		and a second second																
8																		
9																		
11																		
12																		
13																		
4																		
15																		
17																		
18																		
19																		
05																		
22																		
3																		
94																		
5																		
7																		
8																		
9																		
0																		
11																		
13																		
4																		
15																		
16																		



#### **QUOTAS**

The quotas tab allows us to define the monthly quota by rep in terms of total revenue generated during the month. This is the value that will be used as the denominator in calculating quota attainment.



#### DEALS

The main pieces of information we need on the deals are the name of the sales rep, the booking date, and the total amount. This is the key information that will be used to calculate not only the overall commission amount but the attainment and effective commission rate.

Simple Marginal Ac	celerator	2 m													
E File Edit View Insert	t Format Da	ata Tools Add-ons H	elp All changes saved in Drive										(iii) ^	^ <b>q</b>	2. Share
	* * ^ >	0.103	10 0 7 6 4	A m 52	=	1 15 20		7 - 1							
a set of the set of th		0 123 * Detable (Art. *	. 10 * <b>0</b> 7 <del>0</del> 7	•• •• 25	. = .	T + 12 + 14	· · · · ·	J T Y Z -							^
JX Sales Rep				м			×				0	0	0		
1 Sales Rep Jocation	- Region	- Account	kooking Date = Item = Ouant	ity = Price =	Amount =	1	К		м	N	0	P	ų	R	5
2 Diane Gonzalez * California	West	Joshua Baker	2019/01/01 Things	10 17.83	178.3										
a Patrick Graham + Washingt	on West	Antonio Coleman	2018/01/01 Junk	6 12.42	74.52										
4 Sara Snyder * Massach	usetts East	Todd Spencer	2019/01/01 Stuff	2 16.32	32.64										
5 Frances Warren * New Jers 6 Pandu Wateron * New Jers	ey East	Adam Russell	2019/01/01 Junk 2019/01/01 Stuff	4 12.42	49.68										
7 Randy Watson * Massach	usetts East	Shirley Rivera	2019/01/01 Junk	1 12.42	12.42										
8 Frances Warren * New Jers	ey East	Joshua Washington	2019/01/01 Things	7 17.83	124.81										
9 Sara Snyder * New Jers	ey East	Joseph Foster	2019/01/01 Junk	7 12.42	86.94										
10 Diane Gonzalez * Washingt	on West	Evelyn Lane Theress Elis	2019/01/01 Widgets 2019/01/01 Junk	1 53.35	53.35										
12 Patrick Graham * Washingb	on West	Jerry Colins	2019/01/01 Stuff	1 16.32	16.32										
13 Randy Watson * New York	East	Arthur Austin	2019/01/01 Stuff	3 16.32	48.95										
14 Sara Snyder - New Jers	ey East	Judy Carpenter	2019/01/01 Junk	4 12.42	49.68										
16 Patrick Graham * California	West	Dennis Fields	2019/01/01 Widgets 2019/01/01 Widgets	9 53.35	420.8										
17 Sara Snyder * New Jers	ey East	Todd Miller	2018/01/01 Widgets	10 53.35	533.5										
18 Randy Watson * New York	East	Raymond Collins	2019/01/01 Things	7 17.83	124.81										
19 Sara Snyder · New York	East	Richard Walker	2019/01/01 Widgets	4 53.35	213.4										
21 Sara Snyder * New Jers 21 Sara Snyder * New York	ey East East	Katherine Mcdonald	2019/01/02 Things 2019/01/02 Stuff	3 16.32	48.95										
22 Patrick Graham · Washingt	on West	Stephen Murray	2019/01/02 Widgets	10 53.35	533.5										
23 Frances Warren * Massacha	usetts East	Arny Carr	2019/01/02 Junk	10 12.42	124.2										
24 Sara Snyder * New York 25 Frances Warren * New Jere	ev East	Atan Allen Benjamin Spencer	2019/01/02 Junk 2019/01/02 Widgets	6 12.42 5 53.35	206.75										
26 Patrick Graham * California	West	Joshua Baker	2019/01/02 Junk	1 12.42	12.42										
27 Frances Warren * Messach	usetts East	Steven Miller	2019/01/03 Widgets	6 53.35	320.1										
28 Sara Snyder • Massach	usetts East	Martha Brown	2019/01/03 Stuff	2 16.32	32.64										
30 Patrick Graham * Washingt	on West	Charles Collins	2019/01/03 Widgets	4 53.35	213.4										
31 Randy Watson * New Jers	ey East	Benjamin Spencer	2019/01/03 Junk	6 12.42	74.52										
32 Diane Gonzalez * Washingt	on West	Stephen Martinez	2019/01/03 Things	5 17.83	89.15										
33 Frances Warren * New Jers 34 Randy Watson * New Jers	ey East ev East	Joshua Washington Ruth Burton	2019/01/03 Junk 2019/01/03 Junk	8 12.42	99.35										
35 Frances Warren * New York	East	Robert Hayes	2019/01/03 Junk	4 12.42	49.68										
36 Randy Watson * Massach	usetts East	Eugene Schmidt	2019/01/03 Junk	5 12.42	62.1										
	Wost	Kathy Lee	2010/01/03 Widowte	10 53.35	533.5										
27 Patrick Graham * Oregon			Loreron do mogens		000.0										



### **PLAN SETTINGS**

There's also a tab with a handful of settings that can be adjusted according to your particular specifications. Make sure you only adjust fields colored in yellow-the rest are calculated automatically.

Simpl	e Marginal Accel	erator 🐘 🖿											1			
File E	dit View Insert F	ormat Data Tools	Add-ons	Help All chan	ges saved in Dr	ive										
	100% - \$	% .000 123-	Default (Ari	- 10 -	в / 👇	A À 🖽 🖽	-   = - ± -  + -	P- ⊕ <b>□</b> • 7	- Σ -							
	adjust to	your speci	iffic ac	celerato	rsettin	gs										
A	В	C		E	F	G	H	J	К	L	М	N	0	Ρ	Q	
	ACCELERATOR RATI	E TABLE Min Mar	. 🗸 🗸	Pata	Allocation	1929/ 0	ammission	FOR EXAMPLE PURF	POSES ONLY	Data	Allocation	\$12 E00 00 C	ammission			
	0% to 75%	0%	75%	7%	75%	107%	5.25%	\$0.00	\$5.000.00	10%	\$5,000.00	\$8,500.00	\$500.00			
	75% to 85%	75%	85%	10%	10%	97%	1.00%	\$5,000.00	\$7,500.00	11%	\$2,500.00	\$6,000.00	\$275.00			
	85% to 95%	85%	95%	12%	10%	87%	1.20%	\$7,500.00	\$10,000.00	12%	\$2,500.00	\$3,500.00	\$300.00			
	95% to 100%	95%	100%	15%	5%	82%	0.75%	\$10,000.00	\$12,000.00	15%	\$2,000.00	\$1,500.00	\$300.00			
	100% to 110.%	100%	110%	20%	10%	72%	2.00%	\$12,000.00	\$13,000.00	20%	\$1,000.00	\$500.00	\$200.00			
	110.% to 125%	110%	125%	25%	15%	57%	3.75%	\$13,000.00		25%	\$500.00	\$0.00	\$125.00			
	125%+	125%		30%	57%	0%	17.12%					Total Commissi	\$1,700.00			
						Total Commission	31%					Effective rate	12.59%			
						Effective Rate	17%									
	Statement Perio	de														
	Frequency	Monthly *														
		Jan 1, 2019														
		Feb 1, 2019		coloct	the stat	omont ne	wind longth									
		Mar 1, 2019		select	the stat	ement pe	enoù lengu									
		Apr 1, 2019														
		May 1, 2019														
		Jun 1, 2019														
		Aug 1, 2019														
		Sep 1, 2019														
		Oct 1, 2019														
		Nov 1, 2019														
		Dec 1, 2019														
		Jan 1, 2020														



# **CONNECTING IT ALL TOGETHER**

The sales reps are stored in what's called a "Named Range". I named it "salesReps".

File Edit View Insert Format Data Tools Addons Help All changes seved in Drive       α Θ P 100% + 5 % 0, 00 123+       Default (All, + 10 + B I ⊕ A ⊕ 田 ⊞ - E+ 1+ 1+ V+ 00 間 ⊡ ∇ + Σ - Λ														
frances warren@spift.com													Named ranges ×	
A	В	С	D	E	F	G	н	1	J	К	L	м	N	+ Add a range
Name	Email													
Sara Snyder Diane Gonza	sara.snyder@spift.com													Deals/A2:15685
Patrick Grah	am patrick.graham@spiff.com													
Randy Watso	on randy.watson@spiff.com													'Plan Settings'IC16:C44
Frances War	ren frances.warren@spiff.com	2												nuotas
														Quotas/B2:Z1000
														salesReps
														'Sales Reps'IA2:A100

With this named, range, we can then reference it anywhere we want to reference a range of values-such as in data validation. On the "Statement" tab, for the "Sales Rep" dropdown, we add data validation to the cell and reference the "salesRep" named range.



F	ile Edit Viev	w Insert Format	Data Tools	Add-ons Help <u>All ch</u>	anges saved in D	nive		1 - 14	- 2- 00		Σ.		<u> </u>	🔄 🛹 🗏 🛇 shi	re
Sara	a Snyder		+ +	burner para	010	<u> </u>	u	± - 17			2 -			Named ranges	>
A	В	С	D	E	F	G	Н		1	J	к		+ /	\dd a range	
	Sales Rep	Sara Snyder		Period	Feb 1, 2019 👻								de De	als alsIA2:15685	
				\$3	,107.25	5		Num	STATS & CALCULA	TIONS 171			pe 'Pl	riods an Settings'IC16:C44	
	3							Total Quot	i Salos \$ ta \$	18,207.50 10,000.00			qu Qu	otas ctas/B2:Z1000	
	SPIFF				Data	a valida	tion					×	sa 'Sa	lesReps les Reps'!A2:A100	
	Sales Rep	Location	- Region	= Account = Bo	okinç <sub>Coll r</sub>	2020		-							
	Sara Snyder	Massachusetts	East	Phillip Young	2	ange.	Statement!C2	88							
	Sara Snyder	Massachusetts	East	Frances Lane Phillip Johnston	2 2 Criter	ia:	List from a range	-	Roos II						
	Sara Snyder	Massachusetts	East	Rose Baker	2		List norma range	Sale	акера Ш						
	Sara Snyder	New York	East	Robert Hayes	2	1	Show dropdown	n list in ce	ell.						
	Sara Snyder	New York	East	Teresa Thomas	2 On in	valid data:	Show warning	Reie	ct input						
	Sara Snyder	Massachusetts	East	Ernest Kelley	2		O allott maining	C nepar	ernput						
	Sara Snyder	New York	East	Wayne Lawson	2 Appe	arance:	Show validation	help text	t						
	Sara Snyder	New York	East	Tina Jones	2										
	Sara Snyder	Connecticut	East	Maria Long	2				Cancel	Permove	validation	Saura			
	Sara Snyder	New Jersey	East	Billy Wood	2				Carleer	Kelhove	vanuation	Jave			
	Sara Snyder	New York	East	Lillian Wood	2										
	Sara Snyder	New York	East	Marilyn Martin	2019/02/03	Junk		10 \$	12.42 \$	124.20					
	Sara Snyder	New Jersey	East	Jacqueline Hart	2019/02/03	Things		4 5	55.35 \$ 17.83 ¢	213.40					
	Sara Snyder	New York	East	Ronald Kim	2019/02/03	Stuff		8 \$	16.32 S	130.56					
	Sara Snyder	New York	East	Billy Reed	2019/02/04	Stuff		5 \$	16.32 \$	81.60					
	Sara Snyder	Massachusetts	East	Cheryl Williamson	2019/02/04	Junk		8 \$	12.42 \$	99.36					
	Sara Snyder	New York	East	Todd Holmes	2019/02/04	Junk		1 \$	12.42 \$	12.42					
	Sara Snyder	New York	East	Christina Oliver	2019/02/05	Things		2 \$	17.83 \$	35.66					
	Sara Snyder	New Jarsey	East	Asniey Spencer Cynthia Lewis	2019/02/05	Wideets		9 5	16.32 \$ 53.35 e	146.88					
	Sara Snyder	New Jersey	East	Anthony Ruiz	2019/02/05	Junk		6 \$	12.42 \$	74.52					
	Sara Snyder	New Jersey	East	Cynthia Mocoy	2019/02/05	Widgets		9 \$	53.35 \$	480.15					
	Sara Soyder	New Jersey	East	Lois Woods	2019/02/05	Junk		1 \$	12.42 \$	12.42			7		

This allows us to create a dropdown list of the sales reps to ensure we can only select valid values.

#### Sales Rep



Sara Snyd	er
Sara Snyd	er
Diane Gon	zalez
Patrick Gra	aham
Randy Wat	son
Frances W	arren

We did the same thing for the "Period" drop down list.

Using these two, you can select which Rep you want to look at, as well as which period you want to generate the statement for.

Selecting these two will set filters, and filter the list of "deals" data.



	nai Accelerato	or 👘 🖿							(=) ~ F	S sh
le Edit View	Insert Format	Data Tools	s Add-ons Help <u>All</u>	changes saved in Drive						
Snyder	5 % .(	.00 123∓	Default (An + 10	• B 1 ÷ A • H	1 25 *   ₽ *	<u>+</u> +  + +	V + co ⊑	( <u>m</u> * *	Named ranges	
В	C	D	E	F G	Н		1	J	+ Add a range	
Sales Rep	Sara Snyder		Period	Feb 1, 2019 👻					deals	
									Deals!A2:15685	
			\$	3,107.25		ST	ATS & CALCUL	ATIONS	periods 'Plan Settings'IC16:C44	
				TOTAL COMMISSION		Number	of deals	171	austra -	
						Quota	\$	10,000.00	Quotas Quotas B2:21000	
						Quota At	tainment	182.08%	salesReps	
SPIFF						Effective	Rate	17.07%	'Sales Reps'IA2:A100	
Sales Rep 👳	Location	- Region	– Account –	Booking Date — Item	– Quantity	- Price	<b>⇒</b> An	nount 👳		
Sara Snyder	Massachusetts	East	Phillip Young	2019/02/01 Things		8 \$	17.83 \$	142.64		
Sara Snyder Sara Snyder	Massachusetts Massachusetts	East	Prances Lane Phillin Johnston	2019/02/01 Junk 2019/02/01 Stuff		1 5	12.42 \$	12.42		
Sara Snyder	Massachusetts	East	Rose Baker	2019/02/01 Junk		4 \$	12.42 \$	49.68		
Sara Snyder	New York	East	Robert Hayes	2019/02/01 Junk		2 \$	12.42 \$	24.84		
Sara Snyder	New York	East	Teresa Thomas	2019/02/02 Widgets		3 \$	53.35 S	160.05		
Sara Snyder	Massachusetts	East	Ernest Kelley	2019/02/02 Stuff		3 \$	16.32 \$	48.96		
Sara Snyder	New York	East	Wayne Lawson	2019/02/02 Junk		4 \$	12.42 \$	49.68		
Sara Snyder Sara Snyder	New York	East	Tine lones	2019/02/02 Things 2019/02/02 Stuff		23	16.32 \$	35.66		
Sara Snyder	Connecticut	East	Maria Long	2019/02/02 Stuff		8 \$	16.32 S	130.56		
Sara Snyder	New Jersey	East	Billy Wood	2019/02/02 Stuff		5 \$	16.32 \$	81.60		
Sara Snyder	New York	East	Lillian Wood	2019/02/02 Junk		8 \$	12.42 \$	99.36		
Sara Snyder	New York	East	Marilyn Martin	2019/02/03 Junk		10 \$	12.42 \$	124.20		
Sara Snyder	New Jersey	East	Dorothy Baker	2019/02/03 Widgets		4 \$	53.35 \$	213.40		
Sara Snyder	Massachusetts	East	Jacqueline Hart	2019/02/03 Things		2 \$	17.83 \$	35.66		
Sara Snyder	New York	East	Ronald Rim Billy Reed	2019/02/03 Stuff 2019/02/04 Stuff		55	16.32 \$	81.60		
Sara Snyder	Massachusetts	East	Cheryl Williamson	2019/02/04 Junk		8 \$	12.42 S	99.36		
Sara Snyder	New York	East	Todd Holmes	2019/02/04 Junk		1 \$	12.42 \$	12.42		
Sara Snyder	New York	East	Christina Oliver	2019/02/05 Things		2 \$	17.83 \$	35.66		
Sara Snyder	New York	East	Ashley Spencer	2019/02/05 Stuff		9 \$	16.32 \$	146.88		
Sara Snyder	New Jersey	East	Cynthia Lewis	2019/02/05 Widgets		1 \$	53.35 S	53.35		
Sara Snyder	New Jersey	East	Anthony Ruiz	2019/02/05 Junk		6 \$	12.42 \$	74.52		
Sara Soyder	New Jersey	East	Cynthia Mccoy	2019/02/05 Widgets		9 \$	53.35 \$	480.15	*	

There are a couple things Google Sheets does far better than Excel. This next part is one of them, and it's why I'm using Google Sheets instead of Excel. Plus, using Google Sheets I can easily share the end result with you. Using a couple built-in functions, we can easily display a list of values in the table below the filters that actually meet the filter values.

	200% -   \$ % .000	123 - Default (Ari 10 -	B <i>I</i> ≎ <u>A</u>		Ψ * Σ -	^	Named ranges
A	B	C	D	E	F	G	+ Add a range
							deals Deals/42:15685
	Sales Rep	Sara Snyder	•	Period	Feb 1, 2019 🔻		periods
							quotas
				\$	3,107.25		Quotas/B2:Z1000 salesReps
-				-	TOTAL COMMISSION		Sales Repsilez ATOU
	SPIFF						
	SPIFF						
	S P I F F	- Location	- Region	च Account ज्य	Booking Date 👳 Item	÷ (	
	S PIFF Sales Rep == =sort(filter(	- Location -	<del></del>	<b>≂ Account</b>	Booking Date → Item 2,Deals!E2:E5685<=G2)		
	S PIFF Sales Rep == =sort(filter( Sara Snyder	<b>Location</b> Deals!A2:I5685,De Massachusetts	<mark>- Region</mark> eals!A2:A5685 East	⇒     Account     ⇒     I       =\$C\$2,Deals!E2:E5685>=F       Frances Lane	Booking Date → Item 2,Deals!E2:E5685<=G2) 2019/02/01 Junk	÷ ( ,5,true)	
	SPIFF Sales Rep == =sort(filter( Sara Snyder Sara Snyder	Deals 1 A2 : 15685 , De Massachusetts Massachusetts	<mark>∓ Region</mark> eals!A2:A5685 East East East	⇒     Account     ⇒       =\$C\$2,Deals!E2:E5685>=P       Frances Lane       Phillip Johnston	Booking Date - Item 2,Deals!E2:E5685<=G2) 2019/02/01 Junk 2019/02/01 Stuff		
	SPIFF Sales Rep = =sort(filter( Sara Snyder Sara Snyder Sara Snyder	Deals 1 A2 : 15685 , De Massachusetts Massachusetts Massachusetts Massachusetts	<mark>- Region</mark> eals!A2:A5685 East East East East	⇒ Account ⇒ I =\$C\$2, Deals!E2:E5685>=F Frances Lane Phillip Johnston Rose Baker	Booking Date - Item 2,Deals!E2:E5685<=G2) 2019/02/01 Junk 2019/02/01 Stuff 2019/02/01 Junk		

=sort(filter(Deals!A2:I5685,Deals!A2:A5685=\$C\$2,Deals!E2:E5685>=F2,Deals!E2:E5685<=G2),5,true)

Just like your middle school pre-algebra taught you with PEMDAS, we work from the inside out in these functions. The innermost function, filter, is taking the list of Deals (Deals!A2:I5685), and filtering them according to the period start and end date (cells F2 and G2 respectively). You can't see anything in G2 because I colored the text white, but if you click on the cell, you'll see it.

This returns an array of values that meet the filter functions. The next function, sort, takes the results from the filter, and sorts them by column 5, which is the booking date. The result of this function is a sorted list of deals as you see it.

Next, we calculate the total sales by summing up the "Amount" columns. Notice on range we pass into the sum, the second value doesn't have a row (it just says "J"). By not specifying a row, it goes all the way to the bottom of the spreadsheet without limits.

Simple Ma	arginal Accelerator 👘 🗈											Charr
File Edit	View Insert Format Data Te	ols Add-ons Help <u>All changes s</u>	aved in Drive	= 1 - 14 - 54 -	60. F	7 - 7						Gy snare
\$ 18,207.50 × =sum(J12:J)		Detaut (All + 10 + D		=		4 10 1 * 2					Named ranges	×
	E	F	G	Н			I		J	К	+ Add a range	
											deals Deale(42:15685	
Period	ı 📃	Feb 1, 2019 🔻									periods	
											'Plan Settings'/C16:C44	
	¢ 2	107 25									Quotas/B2:Z1000	
	$\phi$	,107.23				ST/	ATS & CALC	ULATI	ONS		salesReps 'Sales Reps'!A2:A100	
	то	TAL COMMISSION				Number c	of deals		171			
						Total Sale	s	=sum(	J12:J)			
						Quota		\$	10,000.00			
						Quota Att	ainment		182.08%			
						Effective	Rate		17.07%			
Acco	unt = Bo	oking Date $\pm$ It	em <del>.</del>	Quantity	Ŧ	Price	Ŧ	Amo	unt 👳			
Phillip	Young	2019/02/01 Th	nings		8	\$	17.83	\$	142.64			
France	es Lane	2019/02/01 Ju	nk		1	\$	12.42	\$	12.42			
Phillip	Johnston	2019/02/01 St	uff		6	\$	16.32	\$	97.92			
Rose I	Baker	2019/02/01 Ju	nk		4	\$	12.42	S	49.68			
Rober	Haves	2019/02/01 Ju	nk		2	\$	12.42	S	24.84			
		0040/00/00 14			2	¢	50.05		100.05		*	

And look up the Quota value from the Quota tab. Index-match is one of the most powerful features in Excel.



I'd recommend getting familiar with it, it'll save your life in many ways, and perhaps I'll write another article about that in the future, but for the sake of this article, all you need to know is this. First, you pass in a range of data (quotas) to index, and then you tell it which row and column to look at. The match function first looks to match the selected Sales Rep row, and the second match function looks to match period column.

Sir	nple Marginal Accelerato	or 😒 🖿									(m) ~ E 🛇	Share
5 18,	Edit View Insert Format	Data Tools Add-ons Help <u>All cha</u>	B Z ↔ A ↔ ⊞ Ξ	· ' 클 • 보 • i÷ • 🏷	60	Ξ. Ξ. Υ - Σ				~	Named ranges	×
=sun(	E	F	G	Н			I		J	К	+ Add a range	
											deals Deals/A2:15685	
P	eriod	Feb 1, 2019 🔻									periods	
_											quotas	
		\$3.107.2	5								Quotas/B2:Z1000 salesReps	
-						SI		JULA	110NS		'Sales Reps'IA2:A100	
-		TUTAL CUMMISSION				Total Sak	or deals	=sum	(112.1)			
						Ouota	73	s	10,000,00			
_						Quota Ati	tainment	Ψ	182 08%			
-						Effective	Rate		17.07%			
A	ccount	= Booking Date =	Item	– Quantity	Ŧ	Price	-	Am	ount =			
P	hillip Young	2019/02/01	Things		8	\$	17.83	\$	142.64			
F	rances Lane	2019/02/01	Junk		1	\$	12.42	\$	12.42			
P	hillip Johnston	2019/02/01	Stuff		6	\$	16.32	\$	97.92			
R	lose Baker	2019/02/01	Junk		4	\$	12.42	\$	49.68			
R	obert Hayes	2019/02/01	Junk		2	\$	12.42	\$	24.84		*	
		0040/00/00	10/2 -1		2	¢	50.05	0	100.05		*	

With the given quota and total sales values, we can calculate quota attainment (it comes out to be 182%).

 $\odot$ 



	Simple Marginal Ac	celerator								(r	· ~	Share
10	File Edit View Inser	t Format Data Tools Add-ons Hel \$ % .000_ 123 - Default (Ari	P All changes saved in Drive 10 → B I S A & B	· · · · · · · · · · · · · · · · · · ·	ν 🖘 🖽 🖬 🍸 + Σ -							
j	6/J7	5		0							K	
1	U	E	F	G	н		I			J	ĸ	
		Period	Feb 1, 2019 🔻									
			\$3,107.25	5								
							STAT	S& CAL	ULAII	JNS	74	
			TUTAL COMMISSION				Total Salaa	ieais	¢ 4	10 207 5	0	
							Ouota		¢ ¢	0,207.5	0	
							Quota Attai	nment	=J6/J	7		
							Effective Ra	nte		17.07	%	
	Region	= Account	= Booking Date =	ltem	– Quantity	Ŧ	Price	Ŧ	Amo	unt	Ŧ	
	East	Phillip Young	2019/02/01	Things		8	\$	17.83	\$	142.6	4	
	East	Frances Lane	2019/02/01	Junk		1	\$	12.42	\$	12.4	2	
	East	Phillip Johnston	2019/02/01	Stuff		6	\$	16.32	\$	97.9	2	
	East	Rose Baker	2019/02/01	Junk		4	\$	12.42	\$	49.6	8	
	East	Robert Hayes	2019/02/01	Junk		2	\$	12.42	\$	24.8	4	
	<b></b>			\ \ /: _! ¥_		2	¢	50.05	¢	100.0	e	
τ.	≡ Statement •	Sales keps * Deals * Qu	lotas * 📖 Plan Settings *									

Now we know the quota attainment, we can feed it into the accelerator table.

ACCELERATOR RATE	TABLE				TO BE ALLOCATED	
Quota Attainmen	Min	Max	Rate	Allocation	182%	Commission
0% to 75%	0%	75%	7%	75%	107%	5.25%
75% to 85%	75%	85%	10%	10%	97%	1.00%
85% to 95%	85%	95%	12%	10%	87%	1.20%
95% to 100%	95%	100%	15%	5%	82%	0.75%
100% to 110.%	100%	110%	20%	10%	72%	2.00%
110.% to 125%	110%	125%	25%	15%	57%	3.75%
125%+	125%		30%	57%	0%	17.12%
					Total Commission	31%
					Effective Rate	17%

The orange fields are just hard-coded values, there are no calculations taking place. For the other columns, the calculations are as follows (modified to be more readable):

- Allocation: =if(Min>0,if(and(ToBeAllocated>(Max-Min),ToBeAllocated>0),Max-Min,ToBeAllocated),ToBeAllocated)
  - » Basically, we're just checking if there's anything left to be allocated.
  - » If there is, then we're checking if there is more than fits into the Min-Max range.
  - If there is more, then we take the Min-Max range, and if there isn't, then we take whatever is left to be allocated
- > ToBeAllocated: = Previous ToBeAllocated Allocation
- Ommission: =Rate\*Allocation



## **EXAMPLE SPREADSHEET**

Check out the actual file if you want specifics on the formula. After all is said and done, we get the effective commission rate of 17%.

Now that we know the effective commission rate, we can use this to calculate the overall commission by multiplying [ Total Sales ]\*[ Effective Commission Rate ], and we get our total commission for this period.

Si Fik	mple Marginal e Edit View In	Accelerator 🔅 🖿 sert Format Data Tools Add-ons Help	All changes saved in Drive							1	~*	Share	
\$3,10	200% -	\$ % .000 123 - Default (Ari 24	- B I ⊕ <u>A</u> ♦. ⊞ 55	* <u>= * †</u> * <u>+</u> * <u>8</u>	ν 💿 🛄 🖬 🔻 ν Σ -								^
	D	E	F	G	Н		I			J	К		
		Period	Feb 1, 2019 🔻										
				E4									
			<b>53,107.25</b>	= <mark>J9</mark> *J6						INS			
			TOTAL COMMISSION				Number of de	als		171			
							Total Sales		\$ 1	8,207.50			
							Quota		\$ 1	10,000.00			
							Quota Attainr	nent		182.08%			
							Effective Rate	Э		17.07%			
F	Region	– Account –	Booking Date $=$ I	tem	– Quantity	$\overline{-}$	Price	Ŧ	Amou	unt 👳			
E	ast	Phillip Young	2019/02/01	Things		8	\$	17.83	\$	142.64			
E	ast	Frances Lane	2019/02/01	lunk		1	\$	12.42	\$	12.42			
E	East	Phillip Johnston	2019/02/01 \$	Stuff		6	\$	16.32	\$	97.92			
E	ast	Rose Baker	2019/02/01	lunk		4	\$	12.42	\$	49.68			
E	ast	Robert Hayes	2019/02/01	lunk		2	\$	12.42	\$	24.84			
E	East	Teresa Thomas	2019/02/02	Vidgets		3	\$	53.35	\$	160.05			
E	ast	Ernest Kelley	2019/02/02	Stuff		3	\$	16.32	\$	48.96			
	E Statement	<ul> <li>Sales Reps + Deals + Quotas</li> </ul>	Plan Settings										í.

There you go! We've demonstrated how to dynamically handle a simple accelerator using marginal payout, with various quotas for different reps.



## THE SPIFF WAY

We hope this article is helpful for your commision calculations. When you're ready to get your life back, Spiff has you covered. For all of the steps we outlined above to get this working in Google Sheets, there are only a few steps required to actually make this happen in Spiff.

First, you create a simple accelerator table that is reminiscent of the one we built earlier for marginal payout using quota attainment.

Friendly Name			Range Table Name			
Accelerator Table			AcceleratorTable			
		Name	Lower Bound	Upper Bound	Return Value	
	1	Tier0	0%	75%	allocation * 7%	
	2	Tierl	75%	85%	allocation *10%	
EDIT	3	Tier2	85%	95%	allocation * 12%	
	4	Tier3	95%	100%	allocation * 15%	
	5	Tier4	100%	110%	allocation * 20%	
			SAVE RANGE 1	ABLE CANCEL		

Then, you create a function that utilizes the simple "marginal\_payout" function, passing in the Quota Attainment value and the table we used above. Similar to the example above, this will return the "Total Commission Rate" for the accelerator table, and then you want to divide it by quota attainment, which will give you the effective commission rate.

Friendly Name		Range Table Name			
Accelerator Tab	le	AcceleratorTable			
	Name	Lower Bound	Upper Bound	Return Value	
	1 TierO	0%	75%	allocation * 7%	
	2 Tierl	75%	85%	allocation *10%	
EDIT	3 Tier2	85%	95%	allocation *12%	
	4 Tier3	95%	100%	allocation * 15%	
	5 Tier4	100%	110%	allocation * 20%	



# **Interested in Spiff?**

# Schedule a demo with a commission specialist today.

SCHEDULE A DEMO HERE

